N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

1%} T (%] %] [%]
s F : S S S
g = g g g
T0E U ol0'F ©10° s
4 P ER: £° g
_ = : E
10°F e 10°F 310
E L E 10?
10°F P 10°F
E e, E
3 L t 10
10 4 10F
------------ 1k 1
E, Boabidinibag AT CIETIAT R
6Bl
[o B! |2 B! [o
Lo .- 0.95F 0.9s5f
05=50-15-10 -5 0 5 10 15 20 25 OSE=S5TiETio 5 6 & 1015302 B=35ETio 5 6 & 1015 20735 05 =50-15-10 -5 0 5 10 15 20 25

track dxy (cm)

10 30

track dz (cm)

30 20 -10 0

track dxy (cm)

[N of associated (recoToSim) tracks vs dz_]

trug tracks

10

"""""""""""" i
IE

‘ |"| Il

track dz (cm)

track dxy (cm)

fake tracks
ou

[N
(=}
)

10

,.,l'
0

—1

: |
o 2

30
track dz (cm)

track dxy (cm)

| N of associated (recoToSim) looper tracks vs dz |

duplicate tracks

=30 -20 -10 O 10 20 30
track dz (cm)



	Contents
	Page 1


